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1. Complete the following paragraph with suitable tense forms of the verbs given in brackets. Write the correct

answer against the correct blank number in your answer sheets

As the years (a) ............................ (roll) by we saw less of each other. For some time she (b) (continue) to

wake me up and get me ready for school. When I (c) ............................ (come) back, she would ask me

what the teacher (d) ............................ (teach) me. I would tell her English words and little things of western

science. This (e) ............................ (make) her unhappy. She (f ) (not believe) in the things

they (g) ............................ (teach) at the English School and was distressed that there (h) ............................

no teaching about God and the scriptures.

2. The following passage from a newspaper article has not been edited. A word has been omitted in each line

having a blank opposite it. Write the missing word along with the word that comes before and the word that

comes after it in your answer sheets against the correct blank number. Ensure that the word that forms your

answer is underlined.

Pollution not a new problem nowadays. In the e.g. Pollutions is not

middle ages most towns dirty and diseases spread (a) ............................

quickly as water supplied foul and bacteria (b) ............................

ridden. Much been done to improve sanitation (c) ............................

and public health. In modern industrial towns the

disposal of waste become quite complicated. (d) ............................

As factories produce fertilisers chemicals solid (e) ............................

waste thrown out in the form of rubbish. (f) ............................

These rubbish heaps an unpleasant sight to (g) ............................

watch. Getting rid of plastics particularly difficult. (h) ............................

3. Fill in the blanks with the correct form of the verb given in brackets :

Many animals are in danger of extinction if special efforts (a) ............................ (be) not made to save them.

In India, the black buck (b) ............................ (be) one of such animals that are (c) ............................ (consider)

endangered. People (d) ............................ (begin) to kill animals indiscriminately and as a result, the population

of these species ............................ (e) ............................ (start) declining. If this practice (f) ............................

(continue), these animals (g) ............................ (become) extinct. If we go on-killing species after species

of animals, we (h) ............................ (be) removing thread after thread from the rich and

beautiful tapestry of life.
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4. The following passage is unedited. There is an error in each line. Write the incorrect word and the correction

as given in the example against the correct blank number in your answer sheets. Remember to underline the

word that you have supplied.

An artist had famous for his paintings e.g. had was

He gone to a beautiful part of the (a) ............................

country for a holiday and’staying with a farmer (b) ............................

for some days. In the morning the artist would went (c) ............................

out with his paints and brushes and painted from (d) ............................

morning to evening. In a fortnight he was made a lot (e) ............................

of paintings. He sold all of them and earn a lot of money. (f) ............................

At the end of the holiday he going to the farmer and asked (g) ............................

how much he should pay. The farmer reply that he did (h) ............................

not want money but one of his paintings.

5. In the paragraph given below one word is missing from each sentence. Write the missing word along with the

word that comes before and the word that comes after it in your answer sheets against the correct blank number.

Ensure that the word that forms your answer is underlined.

A new film had released last week. e.g. had been released

When Mohit the cinema hall yesterday, (a) ............................

the film already started. It was dark inside (b) ............................

There nobody to show him the way. (c) ............................

He the rows and moved into the fifth row (d) ............................

since his ticket E-20 written on it. (e) ............................

He moved through the row slowly as it dark inside. (f) .............................

When he counted twenty, he sat on a chair. (g) ............................

But somebody already sitting on that chair. (h) .............................

6. Fill in the blanks with the correct form of the verb given in the brackets :

The process of ageing (a) ............................. (start) with conception in the mother’s womb. When we

(b) ............................. (be) young we (c) ............................. (not recognise) that there will come a time

when our limbs (d) ............................. (grow) weak, our eyesight less keen and our body unable to function

as smoothly as before. Unfortunately, of late, we (e) ............................. (not be) able to recognise the concept

of respecting, caring and helping the older generation in a systematic way. Although we
 
(f) .............................

(start) recognising the needs of the young, when it (g) ............................. (come) to the old, we have blissfully

(h) ............................. (choose) to ignore them and have left them to fend for themselves.
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